
1

{
2 sinα+ 2 cosβ = 1

2 cosα− 2 sinβ =
√
3
とする．このとき，αとβを求めよ．ただし，0 ≦ α < 2π

かつ 0 ≦ β < 2πとする．
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【答】 (α, β) =
(
π
2
, 4

3
π
)
,
(
11
6

π, 0
)

【解答】 {
2 sinα+ 2 cosβ = 1

2 cosα− 2 sinβ =
√
3

⇐⇒


cosβ = 1

2
− sinα

sinβ = −
√
3
2

+ cosα

sin2 β + cos2 β = 1 から(
1
2

− sinα
)2

+

(
−

√
3
2

+ cosα

)2

= 1

⇐⇒
(
1
4

− sinα+ sin2 α
)
+

(
3
4

−
√
3 cosα+ cos2 α

)
= 1

⇐⇒ sinα+
√
3 cosα = 1

⇐⇒ sin
(
α+ π

3

)
= 1

2
(∵ 合成の公式)

0 ≦ α < 2π より π
3

≦ α+ π
3

< 7
3
π なので

α+ π
3

= 5
6
π, 13

6
π ∴ α = π

2
, 11

6
π

0 ≦ β < 2π より，β は

( i ) α = π
2
のとき

cosβ = − 1
2

sinβ = −
√
3
2

∴ β = 4
3
π

(ii) α = 11
6

π のとき{
cosβ = 1

sinβ = 0
∴ β = 0

以上 ( i )，(ii)から

(α, β) =
(
π
2
, 4

3
π
)
,
(
11
6

π, 0
)

……（答）

である．


